Enigmas, etc.

Input Impedance

M Takashi Ohira

in Figure 1. We now observe the input imped-

ance R+jX. Assuming the nominal dc load
Ro = nwL for half-wave rectification, estimate the reac-
tance X. Which of the following is correct?

T he diode rectifier of this enigma series is shown

(@ X=0
(© X=2wL

(b) X = oL
(d) X > 2L
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RF Rectifier dc
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Figure 1. The half~wave rectifier of this enigma series, now
focusing on the input impedance.

IEEE connects you to a universe of informatio

As the world’s largest professional association dedicated to advancing
technological innovation and excellence for the benefit of humanity,

the IEEE and its Members inspire a global community through its

highly cited publications, conferences, technology standards/—\

and professional and educational activities.

Visit www.ieee.org.

<IEEE

Publications / IEEE Xplore® / Standards / Membership / Conferences //Education

January 2024

IEEE miCrowave magazine


https://orcid.org/0000-0002-5577-6485

